m 990 DUKE R, white 2025 <2025><JP><F9886YD>

INSTRUMENTS / LOCK SYSTEM
77814

2>

’ g'l T
B
©
Pos Part Number Description Additional Text Quantity

1 AB0711066044 Lock kit 1.00
2 A67914060000 Dashboard support 1.00
3 T03314169000 Dashboard 1.00
4 64111067000 KTM ignition key 1.00




4 64111067010 Blank Key KTM 0.00
5 AB60707050000 Seat lock 1.00
6 A60707008040 Lock cylinder fuel tank cap co 1.00
7 0025060126 HH collar screw M6x12 TX30 3.00
8 44011076305 CABLE TIE 300/4,8MM BLACK 1.00
9 A60707051000 Lock cable holder 1.00
10 76011064200 Tear-off screw M6 ignition loc 2.00
11 0024060206S HH collar screw M6x20 TX30 2.00
12 0800000600709 Collar bushing 6.2x8.6x6.85 8.00
13 61314069051 DAMP. COMPONENT SPEEDOMETER 4.00
14 0738060225S Oval head screw ISR M6x22-A2-7 4.00
15 A67914070000 Dashboard cover 1.00
16 69008021160 special screw M5x12 2.00
17 A62711043000 USB-C power socket, 12-V 1.00
18 A60714060010 Dashboard carrier, clamp 1.00
19 64111066020 ANTENNA 1.00




